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Guess Paper – 2012
      Class – XII
Subject –Economics
SectionA
1.The price of a commodity X is Rs. 20 per unit. From the schedule given below of one of its producers, find out the level of output at which this producer is in equilibrium. Give reasons



Output
Total Cost

1 26

2 45

3 60

4 76

5 94

6 114

7 142

2  .Explain equilibrium price with the help of a diagram. Under what conditions, increase 
     in supply of the commodity will not affect its price?

3. What is derived demand?

4. Explain two conditions when the law of Demand does not operate.

5. AB is a staright line demand curve joining both the axes. Comment on the point 
     elasticity on AB curve:-


a)At E point which lies at equidstance from A and B


b) At E1 point which lies nearer to A


c) At E2 point which lies nearer to B

6. Identify the market form for two sellers of goods A and B from the following 
    information, giving reasons in support of your identification using diagram.


Output sold

Price of good A
Price of Good B


10


10



10


25


10



9


45


10



8

7. Define Average Cost and Marginal Cost. Can Average Cost still decrease in spite of rising Marginal Cost?

8. Define Average Product and Marginal Product. Can Average Product still decrease in spite of rising Marginal Product?

9.How the equilibrium of a consumer is retained when a he chooses a combination of two goods on another point of an Indifference Curve other than the point where MRS of Y for X = ration of prices of Good X and Good Y? Explain using a diagram.

10. Illustrate the effect on Equilibrium price and output of an inferior commodity when income of the consumer rises.

11. Illustrate the effect on Equilibrium price and when government announces a subsidy on sale of a commodity.

12. State True/False and give reasons.


a) When MU is diminishing TU will decrease.


b) The producers are able to generate maximum profits only when they are settling thir output at the phase of diminishing returns to a factor.


c) When SMC is increasing SAC will increase.

13. What is Oligopoly. Explain the features of such a market in terms of their Indeterminate demand curve and Price Rigidity.
14. 

Section B
1.What will be the change in demand for foreign exchange, if foreign exvhange rate falls?

2. Can there be unemployment at equiliubrium level of income? Explain

3. How can budgetary policy be used for reducing inequalituiies in income and wealth?

4. Define fiscal deficit. If the fiscal deficit is high, why does the govt. try to reduce it?
5. Name the economy in which GDP is equal to NDP.

6. What do you mean by Net Factor Income  from Abroad? What are its components?

7. What is meant by depreciation of domestic currency? Explain its effect on imports of a country.
8. The consumers in an economy divide their income into consumption and savings in the ratio of 4:1. How much there shall be an increase in income by an investor of Rs. 500 Crores?

9. By giving an example explain the reasons behind the inverse relationship between demand of foreign exchange  and foreign exchange rate.

10. What is the difference between demand for domestic foreign exchange and domestic demand for foreign exchange?

11. Prove with the help of a schedule the equality of AD-AS Equilibrium and  S=I Equilibrium conditions.
12. What do you mean by NFIA? Explain its components.
Give example of any one factor payment paid by the Government to the household and state why it is a factor payment?

State the end use of an Air Conditioner to show it as an intermediate good, Consumers’ final good and Producers’ final good 
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